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Questions

Question Image

If cos (2 sin-1 x) = 1/9 , then what is the value

of xX?

The number of triplets (x, y, z) satisfying sin”Tx

+cos‘1y +sin1z=2mis

sin1[-1/2] =

Question Image

Question Image

Question Image

Question Image

Question Image

Question Image

Question Image

Cos112/13 =

iftan13 + tan"1x = tan'18, then x=

Question Image

Question Image

The value of sin”! 5/13 is equal to

The value of sin-1 24/25 is equal to

TanM/x=

tan~1x > cot x holds for

Answers Choice

Infinite

2
5
7
None of these
1
0
3
-3

<i style="text-align: center;">m</i>

<i style="text-align: center;">1 / 2</i>

<i style="text-align: center;">Tr / 3</i>
<i style="text-align: center;">1 / 4</i>

DomP» DOmP DOwP

. tan<sup>-1</sup> 3/5

. cot<sup>-1</sup> 13/12
Sec<sup>-1</sup> 13/12
. sin<sup>-1</sup> 5/13

vow®

5
1/5
514
14/5

oowp

3
1/5

0

None of these

X
X
X

Cos 5/13
Tan<sup>-1</sup> 5/12
cos<sup>-1</sup>5/12
2 cos<sup>-1 </sup>4/5

. csc-1 25/24

. sec-124/25
. 2tan-14/5

. 2cos-1 24/25

DOW> DOWE TOmr

sin x

. sec<sup>-1</sup>X
. cot<sup>-1</sup>X
None of these

x &gt; 1

x &lt; 1

x=1

. All values of x

DOm> DO P
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Question Image
Question Image
The domain of the principle sine function is
Question Image

Question Image

Question Image

The principal value of sin-1V(3/2) is

Question Image

Question Image

Question Image

Question Image

Sin-1(-x)=

Ifir<x<2m, then cos-1 (cos x)=

If cos'1p + cos‘1q + cos™'r =7Tthen p2+ q2+ r2+
2pqr is equal to

Question Image

sin1(-x)=

Question Image

The domain of the function y = sin x, is

Question Image

Question Image

The domain of the principle cos function is

16/7
6/17
7116

ow»

-11/3

2m/3
2

1

0
. None of these

oow» COowp

13
1

. None of these

X
=X

cos-1 x

COSs X

OW> DOWP» TOWP

1/x

3

2
A

0

DOoWP» DOWPE DOTR

None of these

m<x$T
=2 S xS 21
-1sx<1

oOw

A. <span style="color: rgb(34, 34, 34); font-family: &quot;Times New Roman&quot;;
font-size: 24px; text-align: center; background-color: rgb(255, 255, 248);"><i>1r</i>

</span>/ 4

B. <span style="font-family: &quot; Times New Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center; background-color: rgb(255, 255, 248);"><i>mr</i>

</span>/ 6

C. <span style="font-family: &quot;Times New Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center; background-color: rgb(255, 255, 248);"><i>1m</i>

</span>/3

A0

C.-1
D. None of these

<i style="text-align: center;">1 / 3</i>

<i style="text-align: center;">1 / 6</i>

Cos<sup>-1</sup>1/x

Cot<sup>-1</sup>X
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Question Image

Cos-1 (-x) =

Question Image

In the interval 0< x < T, the sine is

Question Image
Question Image

Question Image

sin[cot'1{cos(tan'1x)}]=

sin"! x=

Question Image

The Principal value of sin-1 (-1/1/2)

The principal value of sin”! (-1/2)

The exact value of cos™ (-1) + cos -1 M=

Question Image

Question Image

Question Image

Question Image

cos'1(cos X) =

What is the value of cos-1(1/2)?

sin -1(sin2m/3) =

Question Image
Question Image

Question Image

The principal value of sin™1[-V(¥3) /2] is

A. -x
B. 1/x
C. tan-1 x

. Not a function
. Not defined
. Infinity

oW

. tan<sup>-1</sup> x
. Cosec<sup> -1</sup> x

w >

o

cosec<sup>-1</sup>(1/x)

B. Cos 4y = cos 2x

C. Cos 3y =sin 4x

D. None of these

A. <p class="MsoNormal">11/2<0:p></0:p></p>
C. <p class="MsoNormal">1r<o:p></0:p></p>
D. <p class="MsoNormal">-1r<0:p></0:p></p>
A. /3

B. m/4

C. /6

B.-m

C. m/2

D. /3

B. <i style="text-align: center;">m / 6</i>

C. <i style="text-align: center;">m / 3</i>

D.0

10
0
. None of these

0O

cos X
x=1/x
cos<sup>-2</sup> x

oow

4
3m/2
/6

2

-3m/2
3

DOoU> DOW

A. 511/3
B. -2m/3
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72

73

74
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76
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78
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80
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82

83

84

85

tan'1(1/4) + tan'1(2/9) is equal to

Seclx=

Cos-1(x)=

Cos (cos4T1/3)=

What is the value of cos (cos-1 2) ?

Question Image
Question Image

Question Image

Question Image

tan(cot'1x) is equal to

The range of the principle cot function is

sin (sin"1(1/2))=

Question Image

Sin -1 x=

Question Image
Question Image

Question Image

Question Image

Question Image

Question Image

Question Image

D. m/3

. 1/2 sin<sup>-1</sup>(3/5)
. 1/2 tan<sup>-1</sup>(3/5)
. tan<sup>-1</sup>1/2

oow

. cosec<sup>-1</sup>1/x
. Cos<sup>-1</sup>(-x)
. Tan<sup>-1</sup>x

Cos X

OW>» UOW

X
. tan-1(-x)
2

3

-11/3

V2
1/2

oom» DOmP

0

A1

4
None of these

o0

. tan x
. secon x
. None of these

oow

ow»
N O

A. sin(11/2-x)
B. Sin-1 (11/2-x)

D. /2 + cos-1x

D. None of these

A. <span style="color: rgb(34, 34, 34); font-family: &quot;Times New Roman&quot;;
font-size: 24px; text-align: center; background-color: rgb(255, 255, 224);"><i>m /
3</i></span>

C. <i style="text-align: center;">1 / 2</i>
D. <i style="text-align: center;">1</i>

A. <span style="font-family: &quot; Times New Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center; background-color: rgb(255, 255, 248);"><i>m</i>
</span>/ 2

B. <span style="font-family: &quot; Times New Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center; background-color: rgb(255, 255, 248);"><i>mi</i>
</span>/3
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rgb(34, 34, 34); text-align: center; background-color: rgb(255, 255, 248);"><i>mr</i>

</span>
86 Question Image
87 The domain of the principal tan function is
A. [0, 1]
88 The solution set of the equation tanx-cot'x  B. [-1, 1]
= cos‘1(2 -X) is
D. None of these
A. 0.56
. B. 0.69
89 sn (2sin-10.8) C 016
A. 70<sup>o</sup>
90 The exact degree value of the function sin-1(-  B. 50<sup>o</sup>
V3/2) is C. 90<sup>o</sup>
91 The range of the principal sine function is
92 Question Image
93 The value of sin [ arc cos (-1/2)] is
94 Question Image
95 The range of the principle cos function is
. B. \3/2
96 The value of cos(cos-1 1/2) is C -1/2
D. 112
A.N(3/2)
B.
97 x = sin"13, then the value of sin xis 3
D. -1
A0
; B. -1
98 Question Image C 12
B. <span style="font-family: &quot;Times New Roman&quot;; font-size: 24pXx; color:
rgb(34, 34, 34); text-align: center; background-color: rgb(255, 255, 248);"><i>1m</i>
99 If 2 tan(cos x) = tan™!(cosec?x), then xis equal ~ </span>/ 2 . ) ]
to C. <span style="font-family: &quot; Times New Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center; background-color: rgb(255, 255, 248);"><i>1m</i>
</span>/ 6

D. <span style="font-family: &quot;Times New Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center; background-color: rgb(255, 255, 248);"><i>mi</i>

</span>
100 Question Image
101 The exact value of cos-1 (0) is ?; '31:42

D: -11/6



